F kR T=SHE 3.5~5.7 2.3 1.45 =
-1 HILER 2.6~3.5 2.0 1.30 =
B RAEE MUE=—IL% E=gx 3.9 f14 1.26 220
FILO—IL%
MUFPEIRR FOx 7.4 18 1.14 180
MIIFLVF HUITFL 5.7 16 0.95 120
RUFOFL % MuFOEL .y 4.9 18 0.91 160
(BER)
AU FOEL > 5.7 16 0.91 160
(E/ 745 AY LR
MU FOoEL > 6.2 20 0.91 160
(WILFF71SAYRTR)
RUFOELy 5.7 13 0.91 160
(BHRE/ 71 TAVRER)
U FOoeL 4.9 16 0.91 160
(=—7)
MUTATILR MUTZFI 4.4 14 1.38 238
(#EFR)
HUTZFI 6.2 16 1.38 238
(RILF 74 SAYRR)
MUk =—IL% MuUE{kE=—I 25 20 1.40 70
MUBkE=UTF R MUE{kE=1 5 17 22 1.70 150




